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	Activity 2 Answers
1. 0.15  £7.20 = £1.08
Sale price: £7.20 £1.08 = £6.12
	(Alternatively: 0.85  £7.20 = £6.12)					

2. 0.12 x £120 = £14.40
Sale price: £120 £14.40 = £105.60					
(Alternatively: 0.88  £120 = £105.60)

3. 0.09 x £18 000 = £1620
New annual salary: £18 000 + £1620 = £19 620
(Alternatively: 1.09  £18 000 = £19 620)

4. 80%  £785
	1%    £9.8125
100%  £981.25
	The original price: £981.25 
									
5. 103%  £15 450
1%    £150
100%  £15 000
 Pay before the pay rise: £15 000




Activity 3 Answers

1.	(a)	£6.20	(b)    £84 	(c)    350 m

2.	(a)	£298.62	(b)    4.095 km 	(c)	    455.01

3.	30% of 700 = 210	90% of 240 = 216 	so:	90% of 240 is greater

4.		   0.273333…
		0.273333… 27.3333…%
Answer: 27.33%
5.		   0.205
		0.205  20.5%
Answer: 20.5%

Activity 4 Answers
1.	(a) 	£45 	(b)    £255				
2.	£2.50								
3. 	(a)	£75	(b)	£325			
4.	(a)	12  £500  £6000	(b)	  £300	
Activity 5 Answers
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	Activity 6 Answers
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Activity 7 Answers
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Activity 8 Answers
1. 	(a)     = 25.9 (to one decimal place)
    	(b)    29 – 21 = 8
    	(c)    no change to the range

	Number
	Frequency

	1
	10

	2
	11

	3
	6

	4
	2

	5
	1


2.     (a)   

    





   	(b) 	mean = 63 ÷ 30 = 2.1
	(c) 	median = 2

3.	(a)  	Shop A: mean = 159 ÷ 10 = 15.9; median = 20; mode = 20
		Shop B: mean = 169 ÷ 10 = 16.9; median = 17; mode = 18
	(b)	Shop A
	(c)	Shop B
4. 	(a)  	mean = 61÷ 25 = 2.44 (2.4 to one decimal place)   
		median = 2 (13th number when in order)   
		mode = 4
	(b) 	best to use the mode as it is the highest.


5.
	Number of nights
	Mid-point
	Frequency
	Mid-point × Frequency

	1 - 5
	3
	20
	60

	6 - 10
	8
	26
	208

	11 - 15
	13
	32
	416

	16 - 20
	18
	5
	90

	21 - 25
	23
	2
	46

	
	Total
	85
	820








	




Estimate of mean = 820 ÷ 85 = 9.6 to 1 decimal place.

Activity 9 Answers
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	Activity 10
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1. 46mand 84m?
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